2018 System and Signal HW10 solution
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(n) We age given that Aln] = ¢"u[n] and z[n| = ujn] = u[n = N]. Therefore,
vin] = zn]ehn]
= Y Aln-Kazlk]
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Simplifying,

0, ne<
yin] = { (a® a~b)/(1 - a™'), 0<neN-1
o™l -aM1-at'), n>N-I

(h) Using Table 10.2, we get
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X(z) = o All:
Therefore,
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The ROC s (2] > |a] Consider
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PR = i =)

with ROC |2 > ja] The partial fraction expassion of (1) s

W(t-a) Y(1=e"")
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Therefore,
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pin) - -'—_-;uln]+ —t uln).

Now, note that
Y(z) = P()t - 27M)

Thevetore,
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This may be written As
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Thic i the same a8 the result of part (a)



